7:45:12 7/30/2012	Public Improvement Assessment I	Roll by Address Project: Ratification Date: Resolut		t: 125208	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Foxcroft Apartments Llp 5402 Parkdale Dr Ste 200	CLAPP-THOMSSEN BATTLE CREEK WEST SUBJ TO RD; LOT 2 BLK 1	Grade and Pave	49.34	320.00	\$15,788.80 \$15,788.80	02-28-22-21-0003
St Louis Park MN 55416-1610 *1910 BURNS AVE *Ward: 7 *Pending as of: 5/16/2012		*** Owner and Taxpayer ***			\$15,766.60	
Emmanuel Ortega 2021 Creekside Way St Paul MN 55119-6675 *2021 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT;LOT 7 BLK 2	Grade and Pave *** Owner and Taxpayer ***	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0190
Carolyn M Plasch 2022 Creekside Way St Paul MN 55119-6676 *2022 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMTS; LOT 1 BLK 1	Grade and Pave *** Owner and Taxpayer ***	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0172
Erica J Schmidt 2025 Creekside Way St Paul MN 55119-6675 *2025 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 8 BLK 2	Grade and Pave *** Owner and Taxpayer ***	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0191
Travis Frokjer 9314 Saratoga Ln N Maple Grove MN 55369-4133 *2026 CREEKSIDE WAY	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 2 BLK 1	Grade and Pave *** Owner and Taxpayer ***	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0173

7:45:12 7/30/2012	Public Improvement Assessment I	Roll by Address Project Ratification Date: Resolut		nt: 125208	Manager: LM	Page 2	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID	
Pamela Dupree 2029 Creekside Way	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBLITO ESMITL OF 9	Grade and Pave	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0192	
St Paul MN 55119-6675 *2029 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	DE WAY	*** Owner and Taxpayer ***					
Cynthia L Harris	COMMON INTEREST COMMUNITY	Grade and Pave	49.34	11.00	\$542.74	02-28-22-12-0174	
2030 Creekside Way St Paul MN 55119-6676 *2030 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 3 BLK 1	*** Owner and Taxpayer ***			\$542.74		
Ejovwokeoghene Oyesanmi 2035 Creekside Way Saint Paul MN 55119-6675 *2035 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 10 BLK 2	Grade and Pave *** Owner and Taxpayer ***	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0193	
Jane A Treston	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT	Grade and Pave	49.34	11.00	\$542.74	02-28-22-12-0175	
2036 Creekside Way St Paul MN 55119-6676 *2036 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	TOWNHOMES SUBJ TO ESMT; LOT 4 BLK 1	*** Owner and Taxpayer ***			\$542.74		
Patricia A Theis 2039 Creekside Way	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT	Grade and Pave	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0194	
St Paul MN 55119-6675 *2039 CREEKSIDE WAY	TOWNHOMES SUBJ TO ESMT; LOT 11 BLK 2	*** Owner and Taxpayer ***			<i>45</i> 12.7 1		

*2039 CREEKSIDE WAY

*Ward: 7

7:45:12 7/30/2012	Public Improvement Assessment I I	-	ct: 19106 Assm ution#:	t: 125208	Manager: LM	Page 3
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Nancy M Engelhardt 2040 Creekside Way	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT	Grade and Pave	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0176
St Paul MN 55119-6676 *2040 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	TOWNHOMES SUBJ TO ESMT; LOT 5 BLK 1	*** Owner and Taxpayer **	*		φ3 12.7 1	
Benjamin G Hoopman 6746 Meadow Grass Ln S Cottage Grove MN 55016-1000 *2043 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 12 BLK 2	Grade and Pave *** Owner and Taxpayer **	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0195
Beverly Griffin 2044 Creekside Way Saint Paul MN 55119-6676 *2044 CREEKSIDE WAY *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 6 BLK 1	Grade and Pave *** Owner and Taxpayer **	49.34	11.00	\$542.74 \$542.74	02-28-22-12-0177
Peggie L Hicks Michael L Hicks 2026 Larry Ho Dr St Paul MN 55119-6672 *2026 LARRY HO DR *Ward: 7 *Pending as of: 5/16/2012	SOUTH BATTLE CREEK HEIGHTS LOT 14 BLK 4	Grade and Pave *** Owner and Taxpayer **	49.34	70.00	\$3,453.80 \$3,453.80	02-28-22-13-0071
Ramsey County Parks And Rec 2015 Van Dyke St N Maplewood MN 55109-3711 *2257 LARRY HO DR	BATTLE CREEK HEIGHTS PLAT 2 VAC ST ACCRUING BLK 17 & BLK 18	Grade and Pave *** Owner and Taxpayer **	49.34	590.00	\$29,110.60 \$29,110.60	02-28-22-14-0112

*Pending as of: 5/16/2012

7:45:12 7/30/2012	Public Improvement Assessment R	Roll by Address Ratification Date:	Project: 19106 As Resolution #:	smt: 125208	Manager: LM	Page 4
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Marian C Peterson 2027 North Park Dr St Paul MN 55119-6661 *2027 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20271	Grade and Pave *** Owner and Taxpa	49.34 ayer ***	8.75	\$431.73 \$431.73	02-28-22-13-0072
Joni Kapp 2027 North Park Dr Unit 2 St Paul MN 55119-6807 *2027 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20272	Grade and Pave *** Owner and Taxpa	49.34 ayer ***	8.75	\$431.73 \$431.73	02-28-22-13-0073
Kevin L Kirch 2027 North Park Dr St Paul MN 55119-6661 *2027 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20273	Grade and Pave *** Owner and Taxpa	49.34 ayer ***	8.75	\$431.73 \$431.73	02-28-22-13-0074
Erzsebet D Alaksza 401 Buttercup Creek Blvd Unit Cedar Park TX 78613-4167 *2027 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20274	Grade and Pave *** Owner and Taxpa	49.34 ayer ***	8.75	\$431.73 \$431.73	02-28-22-13-0075
Kristy L Roy 2027 Park Dr N Unit 5 St Paul MN 55119-6661 *2027 NORTH PARK DR	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20275	Grade and Pave *** Owner and Taxpa	49.34 ıyer ***	8.75	\$431.73 \$431.73	02-28-22-13-0076

*2027 NORTH PARK DR

*Ward: 7

7:45:12 7/30/2012	Public Improvement Assessment R	•	ect: 19106 Assm olution#:	t: 125208	Manager: LM	Page :
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Margaret A Radio 2027 North Park Dr	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.	Grade and Pave	49.34	8.75	\$431.73 \$431.73	02-28-22-13-0077
St Paul MN 55119-6661 *2027 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	20276	*** Owner and Taxpayer *	**		\$431./3	
Michael J Husemann Rasamee Husemann 2033 Park Dr N Unit 1	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20331	Grade and Pave *** Owner and Taxpayer *	49.34	12.00	\$592.08 \$592.08	02-28-22-12-0128
St Paul MN 55119-6806 *2033 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012		Owner and Taxpayer	•••			
Deanna D Vick 2033 North Park Dr Unit 2 St Paul MN 55119-6662 *2033 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20332	Grade and Pave *** Owner and Taxpayer *	49.34 **	12.00	\$592.08 \$592.08	02-28-22-12-0129
Lisa A Knops 2033 3 North Park Dr St Paul MN 55119-6662 *2033 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20333	Grade and Pave *** Owner and Taxpayer *	49.34 **	12.00	\$592.08 \$592.08	02-28-22-12-0130
Michael P Golben 2208 Indian Rd W Minnetonka MN 55305-2216 *2033 NORTH PARK DR	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20334	Grade and Pave *** Owner and Taxpayer *	49.34	12.00	\$592.08 \$592.08	02-28-22-12-0131

*Pending as of: 5/16/2012

7:45:12 7/30/2012	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 1910 Resolution #:	6 Assm	nt: 125208	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	<u>Un</u>	it Rate	Quantity	Charge Amts	Property ID
Kathleen R Morris 2033 North Park Dr St Paul MN 55119-6662 *2033 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20335	Grade and Pave *** Owner and Tax	payer ***	49.34	12.00	\$592.08 \$592.08	02-28-22-12-0132
Matthew Ecklund Nicholas Ecklund 2033 North Park Dr Unit 20336 Saint Paul MN 55119-6662 *2033 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20336	Grade and Pave *** Owner and Tax	payer ***	49.34	12.00	\$592.08 \$592.08	02-28-22-12-0133
E Arlene Obermann 2041 North Park Dr St Paul MN 55119-6677 *2041 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20411	Grade and Pave *** Owner and Tax	payer ***	49.34	8.75	\$431.73 \$431.73	02-28-22-13-0078
Jean M Charpentier 2041 North Park Dr #2 St Paul MN 55119-6677 *2041 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20412	Grade and Pave *** Owner and Tax	payer ***	49.34	8.75	\$431.73 \$431.73	02-28-22-13-0079
Shuping Gong 10198 Florida Cir N Minneapolis MN 55445-2767 *2041 NORTH PARK DR	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20413	Grade and Pave *** Owner and Tax	payer ***	49.34	8.75	\$431.73 \$431.73	02-28-22-13-0080

*Pending as of: 5/16/2012

7:45:12 7/30/2012	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 19 Resolution		t: 125208	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	Property ID
Karoline Finlay 2041 North Park Dr #20414 St Paul MN 55119-6677 *2041 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20414	Grade and Pave *** Owner and Tax	spayer ***	49.34	8.75	\$431.73 \$431.73	02-28-22-13-0081
Katie B Garske 2041 North Park Dr Unit 5 St Paul MN 55119-6677 *2041 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20415	Grade and Pave *** Owner and Tax	payer ***	49.34	8.75	\$431.73 \$431.73	02-28-22-13-0082
Antoine D Coleman 1486 Carroll Ave St Paul MN 55104-5304 *2041 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20416	Grade and Pave *** Owner and Tax	payer ***	49.34	8.75	\$431.73 \$431.73	02-28-22-13-0083
Kathleen L Mertz 2047 North Park Dr Apt 1 St Paul MN 55119-6678 *2047 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20471	Grade and Pave *** Owner and Tax	payer ***	49.34	12.00	\$592.08 \$592.08	02-28-22-12-0134
Jose L Bruno Amy R Bruno 2047 North Park Dr Unit 2 St Paul MN 55119-6678 *2047 NORTH PARK DR *Ward: 7	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20472	Grade and Pave *** Owner and Tax	payer ***	49.34	12.00	\$592.08 \$592.08	02-28-22-12-0135

7:45:12 7/30/2012	Public Improvement Assessment F	•	Project: 19106 As Resolution #:	ssmt: 125208	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Todd E Mathison Janette S Mathison 6600 133rd St W Apple Valley MN 55124-7912 *2047 NORTH PARK DR *Ward: 7	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20473	Grade and Pave *** Owner and Taxpay	49.34 yer ***	12.00	\$592.08 \$592.08	02-28-22-12-0136
*Pending as of: 5/16/2012 Roxanne M Horrisberger 2047 North Park Dr St Paul MN 55119-6678 *2047 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20474	Grade and Pave *** Owner and Taxpay	49.34 yer ***	12.00	\$592.08 \$592.08	02-28-22-12-0137
Angelique C Wright 2047 North Park Dr #5 St Paul MN 55119-6678 *2047 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20475	Grade and Pave *** Owner and Taxpay	49.34 yer ***	12.00	\$592.08 \$592.08	02-28-22-12-0138
Susan M Sauber 2047 N Park Dr Unit 6 Saint Paul MN 55119-6804 *2047 NORTH PARK DR *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO. 20476	Grade and Pave *** Owner and Taxpay	49.34 yer ***	12.00	\$592.08 \$592.08	02-28-22-12-0139
Margie A Blahnik 2023 Parkside Dr St Paul MN 55119-4673 *2023 PARKSIDE DR	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 7 BLK 1	Grade and Pave *** Owner and Taxpay	49.34 yer ***	8.50	\$419.39 \$419.39	02-28-22-12-0178

*Pending as of: 5/16/2012

7:45:12 7/30/2012	Public Improvement Assessment I	-	ct: 19106 Assmitution #:	t: 125208	Manager: LM	Page 9
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Myrtle L Drevlow Lori C Drevlow 2027 Parkside Dr	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 8 BLK 1	Grade and Pave *** Owner and Taxpayer **	49.34	8.50	\$419.39 \$419.39	02-28-22-12-0179
St Paul MN 55119-4673 *2027 PARKSIDE DR *Ward: 7 *Pending as of: 5/16/2012						
Lois Deleon 2031 Parkside Dr St Paul MN 55119-4673 *2031 PARKSIDE DR *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 9 BLK 1	Grade and Pave *** Owner and Taxpayer **	49.34 *	8.50	\$419.39 \$419.39	02-28-22-12-0180
Hilary L Annala 2037 Parkside Dr St Paul MN 55119-4673 *2037 PARKSIDE DR *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 10 BLK 1	Grade and Pave *** Owner and Taxpayer **	49.34 *	8.50	\$419.39 \$419.39	02-28-22-12-0181
Sandra J Annala Cox 2041 Parkside Dr St Paul MN 55119-4673 *2041 PARKSIDE DR *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 11 BLK 1	Grade and Pave *** Owner and Taxpayer **	49.34 *	8.50	\$419.39 \$419.39	02-28-22-12-0182
Amy L Barnum 2045 Parkside Dr Saint Paul MN 55119-4673 *2045 PARKSIDE DR	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 12 BLK 1	Grade and Pave *** Owner and Taxpayer **	49.34	8.50	\$419.39 \$419.39	02-28-22-12-0183

*Pending as of: 5/16/2012

7:45:12 7/30/2012	Public Improvement Assessment I	•	Project: 19106 Assi Resolution #:	nt: 125208	Manager: LM	Page 10
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Katie J Shoen 2024 Pathways Ave St Paul MN 55119-4670 *2024 PATHWAYS DR *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMTS; LOT 1 BLK 2	Grade and Pave *** Owner and Taxpayo	49.34 er ***	11.50	\$567.41 \$567.41	02-28-22-12-0184
Betsy Lien 2028 Pathways Dr St Paul MN 55119-4670 *2028 PATHWAYS DR *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 2 BLK 2	Grade and Pave *** Owner and Taxpayo	49.34 er ***	11.50	\$567.41 \$567.41	02-28-22-12-0185
Carl W Harrmann Ellen M Ackermann 2032 Pathways Dr Saint Paul MN 55119-4670 *2032 PATHWAYS DR *Ward: 7 *Pending as of: 5/16/2012	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 3 BLK 2	Grade and Pave *** Owner and Taxpay	49.34 er ***	11.50	\$567.41 \$567.41	02-28-22-12-0186
Gloria M Strom Trustee Arnold J Strom Trustee 2038 Pathways Dr St Paul MN 55119-4670 *2038 PATHWAYS DR	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT TOWNHOMES SUBJ TO ESMT; LOT 4 BLK 2	Grade and Pave *** Owner and Taxpay	49.34 er ***	11.50	\$567.41 \$567.41	02-28-22-12-0187

7:45:12 7/30/2012	Public Improvement Assessment F	•	Project: 19106 Resolution #:	Assmt: 125208	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description	<u>Unit I</u>	Rate Quantit	y Charge Amts	Property ID
Patricia R Burt 2042 Pathways Dr St Paul MN 55119-4670	Subj To Esmt; Lot 5 Blk 2	Grade and Pave *** Owner and Taxpay		9.34 11.5	\$567.41 \$567.41	02-28-22-12-0188
*2042 PATHWAYS DR *Ward: 7 *Pending as of: 5/16/2012						
Joann M Sauser	COMMON INTEREST COMMUNITY NUMBER 435 CREEKSIDE COURT	Grade and Pave	49	9.34 11.5		02-28-22-12-0189
2046 Pathways Dr St Paul MN 55119-4670 *2046 PATHWAYS DR *Ward: 7	TOWNHOMES SUBJ TO ESMT; LOT 6 BLK 2	*** Owner and Taxpay	er ***		\$567.41	
*Pending as of: 5/16/2012						
Richard G Peterson Linda J Peterson	SOUTH BATTLE CREEK HEIGHTS LOT 9 BLK 4	Grade and Pave	4	9.34 65.0	0 \$3,207.10 \$3,207.10	02-28-22-13-0066
118 Prospect Blvd St Paul MN 55107-2110 *10 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012		*** Owner and Taxpay	er ***		\$5,207.10	
St Paul Public Housing Agency	BISANZ BROS. BATTLE CREEK TERRACE NO. 2 NELY TRIANGULAR	Grade and Pave	49	9.34 70.0		02-28-22-21-0092
Comptroller 555 Wabasha St N Ste 400 St Paul MN 55102-1602 *105 RUTH ST N	PT OF LOT 16 MEAS 54.75 FT ON THE ELY L AND ALL OF LOT 19 BLK 2	*** Owner and Taxpay	er ***		\$3,453.80	

7:45:12 7/30/2012		Public Improvement Assessment Roll by Address Project: 19106 Assmt: 125208 Manager: LM Ratification Date: Resolution #:				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Vernon A Simmons Tracey Jane Simmons	BISANZ BROS. BATTLE CREEK TERRACE NO. 2 LOT 20 BLK 2	Grade and Pave	49.34	70.00	\$3,453.80 \$3,453.80	02-28-22-21-0091
109 Ruth St N St Paul MN 55119-4623 *109 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012		*** Owner and Taxpayer ***				
Elizabeth A Reque 110 Ruth St N Unit 1 St Paul MN 55119-6683 *110 RUTH ST N 1 *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.21101	Grade and Pave *** Owner and Taxpayer ***	49.34	20.00	\$986.80	02-28-22-12-0164
Patricia L Vanderhyde 110 Ruth St N Unit 2 St Paul MN 55119-6683 *110 RUTH ST N 2 *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.21102	Grade and Pave *** Owner and Taxpayer ***	49.34	20.00	\$986.80 \$986.80	02-28-22-12-0165
Geoff Baker 110 Ruth St N Unit 3 Saint Paul MN 55119-6683 *110 RUTH ST N 3 *Ward: 7	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.21103	Grade and Pave *** Owner and Taxpayer ***	49.34	20.00	\$986.80 \$986.80	02-28-22-12-0166
*Pending as of: 5/16/2012 Kathryn S Theien 110 Ruth St N Unit 4 Saint Paul MN 55119-6683 *110 RUTH ST N 4 *Ward: 7	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.21104	Grade and Pave *** Owner and Taxpayer ***	49.34	20.00	\$986.80 \$986.80	02-28-22-12-0167

7:45:12 7/30/2012	<u>-</u>	rovement Assessment Roll by Address Project: 19106 Assmt: 125208 Manager: LM Ratification Date: Resolution #:				
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Serey H Keo Syyay 115 Ruth St N St Paul MN 55119-4623 *115 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 37 BLK 2	Grade and Pave *** Owner and Taxpayer *	49.34	80.00	\$3,947.20 \$3,947.20	02-28-22-21-0090
Walter James Remine 120 Ruth St N Unit 1 Saint Paul MN 55119-6684 *120 RUTH ST N 1 *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.21201	Grade and Pave *** Owner and Taxpayer *	49.34	23.75	\$1,171.83 \$1,171.83	02-28-22-12-0155
Lodelo L Estrellado Estrellado 120 Ruth St N Unit 2 St Paul MN 55119-6684 *120 RUTH ST N 2 *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.21202	Grade and Pave *** Owner ***	49.34	23.75	\$1,171.83 \$1,171.83	02-28-22-12-0156
Sofia A Estrellado 120 Ruth St N Unit 2 St Paul MN 55119-6684 *120 RUTH ST N 2 *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.21202	*** Taxpayer ***				02-28-22-12-0156
Kristen M Mandt 120 Ruth St N Unit 3 Saint Paul MN 55119-6699 *120 RUTH ST N 3 *Ward: 7	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.21203	Grade and Pave *** Owner and Taxpayer *	49.34	23.75	\$1,171.83 \$1,171.83	02-28-22-12-0157

7:45:12 7/30/2012	Public Improvement Assessment F	Roll by Address Project: Ratification Date: Resoluti		it: 125208	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Megan R King 120 Ruth St #4 St Paul MN 55119-6684 *120 RUTH ST N 4 *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM NUMBER 258 NORTH PARK CONDOMINIUM UNIT NO.21204	Grade and Pave *** Owner and Taxpayer ***	49.34	23.75	\$1,171.83 \$1,171.83	02-28-22-12-0158
Nhia Xou Yang Khou Lee Yang 125 Ruth St N St Paul MN 55119-4623 *125 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 36 BLK 2	Grade and Pave *** Owner and Taxpayer ***	49.34	80.00 =	\$3,947.20 \$3,947.20	02-28-22-21-0089
Jeanne K Ogorman 132 Ruth St N St Paul MN 55119-6671 *132 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 12	Grade and Pave *** Owner and Taxpayer ***	49.34	17.50	\$863.45 \$863.45	02-28-22-12-0066
Jean E Daavettila 134 Ruth St N St Paul MN 55106-6671 *134 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 11	Grade and Pave *** Owner and Taxpayer ***	49.34	17.50 =	\$863.45 \$863.45	02-28-22-12-0065
Fai Hong Wong 2513 Knoll Cir E Maplewood MN 55109-5005 *135 RUTH ST N *Ward: 7	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 35 BLK 2	Grade and Pave *** Owner and Taxpayer ***	49.34	75.00	\$3,700.50 \$3,700.50	02-28-22-21-0088

7:45:12 7/30/2012	Public Improvement Assessmen	tt Roll by Address Project: Ratification Date: Resoluti		t: 125208	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Barbara J Mcevoy 136 Ruth St N	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 10	Grade and Pave	49.34	17.50	\$863.45 \$863.45	02-28-22-12-0064
Saint Paul MN 55119-6671 **136 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012		* Owner and Taxpayer ***				
Timothy A Erickson	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES	Grade and Pave	49.34	17.50	\$863.45	02-28-22-12-0063
Cynthia M Erickson 138 Ruth St N Unit 9 St Paul MN 55119-6671 *138 RUTH ST N	CONDOMINIUM "A" UNIT NO 9	*** Owner and Taxpayer ***			\$863.45	
*Ward: 7 *Pending as of: 5/16/2012						
Josephine A Bruno 140 Ruth St N Unit 8	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES	Grade and Pave	49.34	17.50	\$863.45	02-28-22-12-0062
*140 RUTH ST N *140 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	CONDOMINIUM "A" UNIT NO 8	*** Owner and Taxpayer ***			\$863.45	
Laurel M Trepier	APARTMENT OWNERSHIP NO 8	Grade and Pave	49.34	17.50	\$863.45	02-28-22-12-0061
142 Ruth St St Paul MN 55119-6671 *142 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 7	*** Owner and Taxpayer ***			\$863.45	
John A Gerard 144 Ruth St N Unit 1 St Paul MN 55119-6671	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 1	Grade and Pave *** Owner and Taxpayer ***	49.34	17.50	\$863.45 \$863.45	02-28-22-12-0055
* 144 RUTH ST N *Ward: 7						

7:45:12 7/30/2012	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19106 Resolution #:	Assmt: 12	5208	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description	<u>Unit</u>	Rate Qu	<u>ıantity</u>	Charge Amts	Property ID
Loras J Kemp Constance M Kemp 145 Ruth St N St Paul MN 55119-4623 *145 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 34 BLK 2	Grade and Pave *** Owner and Tax		19.34	75.00	\$3,700.50 \$3,700.50	02-28-22-21-0087
Maureen Garrett Lesley Wolterstorff 146 Ruth St N St Paul MN 55119-6671 *146 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 2	Grade and Pave *** Owner and Taxy		49.34	17.50	\$863.45 \$863.45	02-28-22-12-0056
Edward T Okubo Randall Okubo 148 Ruth St N St Paul MN 55119-6671 *148 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 3	Grade and Pave *** Owner and Tax		19.34	17.50	\$863.45 \$863.45	02-28-22-12-0057
Helen M Engman 15 Ruth St N St Paul MN 55119-6674 *15 RUTH ST N *Ward: 7	MIDDLE BATTLE CREEK ADDITION NO. 3 LOT 13 BLK 3	Grade and Pave *** Owner and Tax		49.34	67.00	\$3,305.78 \$3,305.78	02-28-22-24-0012

7:45:12 7/30/2012	Public Improvement Assessment	•	Project: 19106 Resolution #:			Manager: LM	Page 1'
Owner or Taxpayer	Property Description	Item Description	<u>Unit I</u>	Rate C	<u> Duantity</u>	Charge Amts	Property ID
Russell E Garrod Nila M Garrod Trustee 150 Ruth St N St Paul MN 55119-6671 *150 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 4	Grade and Pave *** Owner and Taxpa		9.34	17.50	\$863.45 \$863.45	02-28-22-12-0058
Beverly J Krause 152 Ruth St N Unit 5 St Paul MN 55119-6671 *152 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 5	Grade and Pave *** Owner and Taxpa		9.34	17.50	\$863.45 \$863.45	02-28-22-12-0059
Julie A Paul 154 Ruth St N Unit 6 St Paul MN 55119-6671 *154 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	APARTMENT OWNERSHIP NO 8 KNOWN AS PARK HOMES CONDOMINIUM "A" UNIT NO 6	Grade and Pave *** Owner and Taxpa		9.34	17.50	\$863.45 \$863.45	02-28-22-12-0060
Federal National Mortgage Association Po Box 650043 Dallas TX 75265-0043	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 21 BLK 2	Grade and Pave *** Owner and Taxpa		9.34	75.00	\$3,700.50 \$3,700.50	02-28-22-21-0086

*155 RUTH ST N

*Ward: 7

7:45:12 7/30/2012	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 19106 Resolution #:	Assmt: 1	25208	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description	<u>Unit</u>	Rate C	<u>Duantity</u>	Charge Amts	Property ID
Lawrence D Farley Maureen P Farley 165 Ruth St N St Paul MN 55119-4623 *165 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 20 BLK 2	Grade and Pave *** Owner and Tax		49.34	75.00	\$3,700.50 \$3,700.50	02-28-22-21-0085
Intrntl Center Hotel Assoc Lp Sage Company 1107 Hazeltine Blvd Ste 200 Chaska MN 55318-1006 *170 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	PATHWAYS SUBJ TO ESMTS; LOT 1 BLK 1	Grade and Pave *** Owner and Tax		49.34	485.00	\$23,929.90 \$23,929.90	02-28-22-12-0002
Conrado D Rivera Maria Ester B Rivera 175 Ruth St N St Paul MN 55119-4623 *175 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 18 BLK 2	Grade and Pave *** Owner and Tax		49.34	80.00	\$3,947.20 \$3,947.20	02-28-22-21-0084
Victor E Vasas 18 Ruth St N St Paul MN 55119-4618 *18 RUTH ST N *Ward: 7	SOUTH BATTLE CREEK HEIGHTS LOT 10 BLK 4	Grade and Pave *** Owner and Tax		49.34	65.00	\$3,207.10 \$3,207.10	02-28-22-13-0067

7:45:12 7/30/2012	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 19106 Resolution #:	Assmt: 125208	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description	Unit R	ate Quantity	Charge Amts	Property ID
Patrick G Ryan Patricia A Ryan	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 17 BLK 2	Grade and Pave		.34 90.00	\$4,440.60	02-28-22-21-0083
185 Ruth St N St Paul MN 55119-4623 *185 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012		*** Owner and Tax	payer ***			
David J Rapacz Diane E Rapacz	SOUTH BATTLE CREEK HEIGHTS LOT 8 BLK 4	Grade and Pave	49	.34 65.00		02-28-22-13-0065
2 Ruth St N St Paul MN 55119-4618 *2 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012		*** Owner and Tax	payer ***		\$3,207.10	
Keith A Smeby Constance J Smeby	MIDDLE BATTLE CREEK ADDITION NO. 3 LOT 14 BLK 3	Grade and Pave	49	.34 67.00		02-28-22-24-0011
21 Ruth St N St Paul MN 55119-6674 *21 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012		*** Owner and Tax	payer ***		\$3,305.78	
Krishna Chowdhury	SOUTH BATTLE CREEK HEIGHTS LOT 11 BLK 4	Grade and Pave	49	.34 65.00		02-28-22-13-0068
Subhra Chowdhury 26 Ruth St N St Paul MN 55119-4618 *26 RUTH ST N *Ward: 7	II DEK +	*** Owner and Tax	payer ***		\$3,207.10	
*Pending as of: 5/16/2012						this TOOD OW this

ESCROW

7:45:12 7/30/2012	Public Improvement Assessment F	•	Project: 19106 Ass Resolution #:	mt: 125208	Manager: LM	Page 2
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Michael J Lunde	MIDDLE BATTLE CREEK ADDITION	Grade and Pave	49.34	67.00	\$3,305.78	02-28-22-24-0010
29 Ruth St N	NO. 3 LOT 15 BLK 3				\$3,305.78	
Saint Paul MN 55119-6674		*** Owner and Taxpa	yer ***			
*29 RUTH ST N						
*Ward: 7						
*Pending as of: 5/16/2012						
Pauline L Neal	MIDDLE BATTLE CREEK ADDITION	Grade and Pave	49.34	67.00	\$3,305.78	02-28-22-24-0014
3 Ruth St N	NO. 3 LOT 11 BLK 3				\$3,305.78	
St Paul MN 55119-6674		*** Owner and Taxpa	yer ***		•	
*3 RUTH ST N						
*Ward: 7						
*Pending as of: 5/16/2012						
Sherman Lightfoot	SOUTH BATTLE CREEK HEIGHTS LOT	Grade and Pave	49.34	65.00	\$3,207.10	02-28-22-13-0069
Gabriel D Lightfoot	12 BLK 4				\$3,207.10	
34 Ruth St N		*** Owner and Taxpa	yer ***			
St Paul MN 55119-4618						
*34 RUTH ST N						
*Ward: 7						
*Pending as of: 5/16/2012						
John R Gibson	MIDDLE BATTLE CREEK ADDITION	Grade and Pave	49.34	67.00	\$3,305.78	02-28-22-24-0009
Annie S Gibson	NO. 3 LOT 16 BLK 3				\$3,305.78	
35 Ruth St N		*** Owner and Taxpa	yer ***			
St Paul MN 55119-6674						
*35 RUTH ST N						

*35 RUTH ST N

*Ward: 7

7:45:12 7/30/2012	Public Improvement Assessment F	-	Project: 19106 Assmt: 125208 Manager: LM Resolution #:		Page 21	
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Donovan Germain Jennifer Germain 42 Ruth St N Saint Paul MN 55119-4618 *42 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	SOUTH BATTLE CREEK HEIGHTS LOT 13 BLK 4	Grade and Pave *** Owner and Taxpa	49.34 ayer ***	65.00	\$3,207.10 \$3,207.10	02-28-22-13-0070
John A Demarco Ellen E Demarco 43 Ruth St N St Paul MN 55119-6674 *43 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	MIDDLE BATTLE CREEK ADDITION NO. 3 LOT 17 BLK 3	Grade and Pave *** Owner and Taxpa	49.34 ayer ***	67.00	\$3,305.78 \$3,305.78	02-28-22-24-0008
Warren R Loiler Sharon M Loiler 49 Ruth St N St Paul MN 55119-6674 *49 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	MIDDLE BATTLE CREEK ADDITION NO. 3 LOT 18 BLK 3	Grade and Pave *** Owner and Taxpa	49.34 ayer ***	67.00	\$3,305.78 \$3,305.78	02-28-22-24-0007
Carol J Mcgeehan 59 Ruth St N St Paul MN 55119-6674 *59 RUTH ST N *Ward: 7	MIDDLE BATTLE CREEK ADDITION NO. 3 LOT 19 BLK 3	Grade and Pave *** Owner and Taxpa	49.34 eyer ***	67.00	\$3,305.78 \$3,305.78	02-28-22-24-0006

7:45:12 7/30/2012	Public Improvement Assessment	Roll by Address Project Ratification Date: Resolut		t: 125208	Manager: LM	Page 22
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Erik M Atkinson 63 Ruth St N Saint Paul MN 55119-6674 *63 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	MIDDLE BATTLE CREEK ADDITION NO. 3 LOT 20 BLK 3	Grade and Pave *** Owner and Taxpayer ***	49.34	67.00	\$3,305.78 \$3,305.78	02-28-22-24-0005
Evette Louise Grillo 71 Ruth St St Paul MN 55119-6674 *71 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	MIDDLE BATTLE CREEK ADDITION NO. 3 LOT 21 BLK 3	Grade and Pave *** Owner and Taxpayer ***	49.34	70.00	\$3,453.80 \$3,453.80	02-28-22-24-0004
Wokie Massaquoi Dunna 9 Ruth St St Paul MN 55119-6674 *9 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	MIDDLE BATTLE CREEK ADDITION NO. 3 LOT 12 BLK 3	Grade and Pave *** Owner and Taxpayer ***	49.34	67.00	\$3,305.78 \$3,305.78	02-28-22-24-0013
Frank Hay Laura M Hay 99 Ruth St N St Paul MN 55119-4623 *99 RUTH ST N *Ward: 7 *Pending as of: 5/16/2012	BISANZ BROS. BATTLE CREEK TERRACE NO. 2 LOT 18 BLK 2	Grade and Pave *** Owner and Taxpayer ***	49.34	90.00	\$4,440.60 \$4,440.60	02-28-22-24-0001
Ramsey County Parks And Rec 2015 Van Dyke St N Maplewood MN 55109-3711 * UPPER AFTON RD *Ward: 7	SECTION 2 TOWN 28 RANGE 22 PART OF SW 1/4 OF NW 1/4 SLY OF CL OF UPPER AFTON RD,E OF METCALF LANE & W OF A LINE DESC AS BEG ON S LINE OF SD 1/4 1/4, 400 FT W OF SE COR OF SD 1/4 1/4 TH N 15 DEG 01	Grade and Pave *** Owner and Taxpayer ***	49.34	335.00	\$16,528.90 \$16,528.90	02-28-22-24-0089

7:45:12 7/30/2012	Public Improvement Assessment	•	Project: 19106 Resolution #:	Assm	nt: 125208	Manager: LM	Page 2.
Owner or Taxpayer	Property Description	Item Description	<u>Unit</u>	<u>Rate</u>	Quantity	Charge Amts	Property ID
Sally K Wakefield 194 Valleyside Dr Saint Paul MN 55119-4932 *194 VALLEYSIDE DR *Ward: 7 *Pending as of: 5/16/2012	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 1 BLK 2	Grade and Pave *** Owner and Taxpa		19.34	80.00	\$3,947.20 \$3,947.20	02-28-22-21-0082
Victor A Wittgenstein Suzanne K Wittgenstein 195 Valleyside Dr St Paul MN 55119-4931 *195 VALLEYSIDE DR *Ward: 7 *Pending as of: 5/16/2012	CLAPP-THOMSSEN BATTLE CREEK WEST LOT 3 BLK 1	Grade and Pave *** Owner and Taxpa		19.34	72.00	\$3,552.48 \$3,552.48	02-28-22-21-0004
Total Grade and Pave:	\$238,213.60						
Project Total:	\$238,213.60					***	
Less Total Discounts:	\$0.00	Residential Fro		9.34 9.34	4,023.00 805.00	\$198,494.90 \$39,718.70	
Project Total:	\$238,213.60	Frontage Tota	als:		4,828.00	\$238,213.60	

103 Parcel(s)
0 Exempt Parcel(s)